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61035 107% A Tif Tk kAT
61036 107 Al p=qis kAT
61037 105 A FE AT
61038 1073 Al p=qis kAT
61039 105 A FE AT
61040 107 Al B kAT
61041 105 A FE AT
61042 10738 Al =gis kAT
61043 107% A Tif Tk kAT
61044 107 Al FE kAT
61045 105% A Tk AT
61046 107 Al FE kAT
61047 105% A Tk AT
61048 107 Al ek kAT
61049 105% A Tk AT
61050 1078 Al FE kAT
61051 105% A Tk AT
61052 107 Al FE kAT
61053 105% A Tk AT
61054 107 Al ek kAT
61055 105% A Tk AT
61056 1078 Al ek kAT
61057 107% Aiif Bk AT
61058 1075 A g BT
61059 107% Aiif =gis AT
61060 1075 A T BT
61061 107% ATif =gis AT
61062 1075 A T BT
61063 107% Aiif Bk AT
61064 1075 A g BT
61065 107% Aiif =gis AT
61066 107:% AT B BT
61067 107% A 4if =gis AT
61068 107:% AT B BT
61069 1075 A i B AT
61070 107% AT eqis BT
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61183 107% 1% eqis BT
61184 105548 HE AT
61185 107% 1% Bk BT
61186 107%4% Mk kAT
61187 107% 1% B BT
61188 107% A% M kAT
61189 107% A% B BT
61190 10554 Bk AT
61191 107% A% B BT
61192 10554 Bk =Y N
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61233 20554 X Tz kAT
61234 2075 A% B BT
61235 2055 A Bk AT
61236 2075 A% B BT
61237 2055 AX; HE AT
61238 207 A% B BT
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61869 107% A i eqis rgastiEl
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61984 305 A% B FEASF T
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61990 30X LeQ3 LT
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62013 405518 Bk SHLET
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62015 40554 Tz ST
62016 4055 A g LR
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62029 4075 A B LT
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62031 501X eqis LT
62032 507X i LT
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62035 5051 B LT
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62037 501X eqis 2 HERT
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62049 5055 1% Tk ST
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62052 505 1% B LT
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62087 T0m A% eqis A SFTH
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62092 80k R Bk sl
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